Notes and Comments:
® X
®  xx
®  xxx

® XXXX

1177729-8-A

Service Parts
Reference Document Only
Bypass Shower Door

5400 Series/Séries 5400/Serie 5400



1058298**
Hardware Pack

1058827-02**

1048208-C
Screw/Vis/Tornillo

*See table for parts identification.
Voir table d'identification des piéces.
Vea la tabla para identificar las piezas.

Service Parts

Top Track/Rail supérieur/Carril superior\

Paquet de boulonnerie 1077762
Paquete de herrajes Anchor
- Ancrage
Series Number Label Anclaje
Etiquette avec numéro du séries 1031943**
Etiqueta con el nimero de serie Cover /
Couvercle
1044585 Tapa X
1077761-01** Roller -
Hanger Bracket Rouleau ®
Support d'ancrage Rueda M
Soporte de suspension 1081001
Bumper
1077763-A Amortisseur
Sex Bolt Tope
Boulon hexagonal pe | 4
Perno hembra > 1051142-A e
e Screw/Vis/Tornillo -
A ZETTe Wall Jamb*
P Montant du mur
\ e Jamba mural
l’
.+ 1059792 | 1050048-B vy =
N Bushing Blind Nut ~ ®e, .
¥ Bague Ecrou borgne d
Buje Tuerca ciega 2
‘ .
Door Panel* Towel Bar Assembly* .
s Panneau e pore Eroerbo de oo sorvtos
1111093027 Panel de la puerta |
Spacer (8 ea.) 1058294**
ESpacetér (8(ch-/) ) Center Guide
spaciador (8 c/u Y Guide de centre
/@ Guia contal 1053530
& 1056868-A Insert
> Screw/Vis/Tornillo Insertion
Inserto

1058626-02**
Bottom Track/Rail inférieur/Carril inferior

**Finish/color code must be specified when ordering.
**Vous devez spécifier les codes de la finition et/ou de la couleur
quand vous passez votre commande.

**Se debe especificar el cédigo del acabado/color con el pedido.

1177729-8-A

2 Sterling



1058298**
Hardware Pack
Paquet de boulonnerie

Paquete de herrajes _e—-
N
C_o°_
B8 —
B8 —C
N
Roller Screw #8-32 Anchor
Rouleau Vis #8-32 Ancrage
Rueda  Tornillo del #8-32 Anclaje
EE
OO
Bushing Screw #6-20 x 1/2"
Bague Vis #6-20 x 1/2"
Buje Tornillo del #6-20 x 1/2"

Screw #8-18 x 1-1/2" Bumper
Vis #8-18 x 1-1/2" Butée
Tornillo del #8-18 x 1-1/2" Tope

Sex Bolt
Boulon hexagonal
Perno hembra

©©
©©

_ Blind Nut
Ecrou borgne
Tuerca ciega

888 ?
Cover
Couvercle 0
Tapa OQ
O
- D
©)
e
Center Guide Hanger Bracket
Guide central Support d'ancrage
Guia central Soporte de suspension

Service Parts Table

**Finish/color code must be specified when ordering.
**Vous devez spécifier les codes de la finition et/ou de la couleur
quand vous passez votre commande.

**Se debe especificar el cédigo del acabado/color con el pedido.

Sterling 3

1177729-8-A



GLASS TEXTURES & PATTERNS
TEXTURES VERRE & MOTIFS
TEXTURAS Y DISENOS DEL VIDRIO

Glass Textures
Textures verre
Texturas del vidrio

Glass Patterns
Motifs verre
Disenos del vidrio

Solstice™

Smooth/Clear Oak Park™ Tulle™ Lake Mist™ GraflteT""
Solstice™ Lisse/claire Oak Park™ Tulle™ Lake Mist™ Grafite™
Solstice™ Liso/transparente Oak Park™ Tulle™ Lake Mist™ Grafite™
GC57 GCO05 GC68 GC70 GC69 GC72
Cirkette™  Starscape™ Frosted Boxwood™
Cirkette™  Starscape™ Dépoli Boxwood™
Cirkette™  Starscape™ Mateado Boxwood™
GC74 GC76 GCO03 GC75
Service Parts Table (cont.)
Model Number Towel Bar Assembly Wall Jamb Door Panel

Numéro du modele
Ntumero del modelo

Ensemble de
porte-serviettes
Montaje del toallero
de barra

Montant du mur
Jamba mural

Panneau de porte
Panel de la puerta

5405-59DR-G03

1057704-01-DR

1162676-04-DR

1067048-DR-GCO03

5405-59DR-G05

1057704-01-DR

1162676-04-DR

1067048-DR-GCO05

5405-59DR-G57

1057704-01-DR

1162676-04-DR

1067048-DR-GC57

5405-59DR-G68

1057704-01-DR

1162676-04-DR

1067048-DR-GC68

5405-59DR-G69

1057704-01-DR

1162676-04-DR

1067048-DR-GC69

5405-59DR-G70

1057704-01-DR

1162676-04-DR

1067048-DR-GC70

5405-59DR-G72

1057704-01-DR

1162676-04-DR

1067048-DR-GC72

5405-59DR-G74

1057704-01-DR

1162676-04-DR

1067048-DR-GC74

5405-59DR-G75

1057704-01-DR

1162676-04-DR

1067048-DR-GC75

5405-59DR-G76

1057704-01-DR

1162676-04-DR

1067048-DR-GC76

5405-59N-G03

1057704-01-MX

1162676-04-MX

1067048-MX-GC03

5405-59N-G05

1057704-01-MX

1162676-04-MX

1067048-MX-GCO05

5405-59N-G57

1057704-01-MX

1162676-04-MX

1067048-MX-GC57

5405-59N-G68

1057704-01-MX

1162676-04-MX

1067048-MX-GC68

5405-59N-G69

1057704-01-MX

1162676-04-MX

1067048-MX-GC69

5405-59N-G70

1057704-01-MX

1162676-04-MX

1067048-MX-GC70

1177729-8-A

Sterling



Service Parts Table (cont.)

Model Number
Numéro du modele
Numero del modelo

Towel Bar Assembly

Ensemble de
porte-serviettes
Montaje del toallero
de barra

Wall Jamb
Montant du mur
Jamba mural

Door Panel
Panneau de porte
Panel de la puerta

5405-59N-G72

1057704-01-MX

1162676-04-MX

1067048-MX-GC72

5405-59N-G74

1057704-01-MX

1162676-04-MX

1067048-MX-GC74

5405-59N-G75

1057704-01-MX

1162676-04-MX

1067048-MX-GC75

5405-59N-G76

1057704-01-MX

1162676-04-MX

1067048-MX-GC76

5405-59PB-G05

1057704-01-VF

1162676-04-PB

1067048-PB-GCO05

5405-595-G03

1057704-01-CP

1162676-04-BDS

1067048-BDS-GC03

5405-59S5-G05

1057704-01-CP

1162676-04-BDS

1067048-BDS-GC05

5405-595-G57

1057704-01-CP

1162676-04-BDS

1067048-BDS-GC57

5405-595-G68

1057704-01-CP

1162676-04-BDS

1067048-BDS-GC68

5405-595-G69

1057704-01-CP

1162676-04-BDS

1067048-BDS-GC69

5405-595-G70

1057704-01-CP

1162676-04-BDS

1067048-BDS-GC70

5405-595-G72

1057704-01-CP

1162676-04-BDS

1067048-BDS-GC72

5405-595-G74

1057704-01-CP

1162676-04-BDS

1067048-BDS-GC74

5405-595-G75

1057704-01-CP

1162676-04-BDS

1067048-BDS-GC75

5405-595-G76

1057704-01-CP

1162676-04-BDS

1067048-BDS-GC76

5425-57DR-G05

1057704-01-DR

1162676-03-DR

1067049-DR-GC05

5425-57PB-G05

1057704-01-VE

1162676-03-PB

1067049-PB-GCO05

5425-575-G05

1057704-01-CP

1162676-03-BDS

1067049-BDS-GC05

5425-59DR-G03

1057704-01-DR

1162676-03-DR

1067050-DR-GCO03

5425-59DR-G05

1057704-01-DR

1162676-03-DR

1067050-DR-GC05

5425-59DR-G57

1057704-01-DR

1162676-03-DR

1067050-DR-GC57

5425-59DR-G68

1057704-01-DR

1162676-03-DR

1067050-DR-GC68

5425-59DR-G69

1057704-01-DR

1162676-03-DR

1067050-DR-GC69

5425-59DR-G70

1057704-01-DR

1162676-03-DR

1067050-DR-GC70

5425-59DR-G72

1057704-01-DR

1162676-03-DR

1067050-DR-GC72

5425-59DR-G74

1057704-01-DR

1162676-03-DR

1067050-DR-GC74

5425-59DR-G75

1057704-01-DR

1162676-03-DR

1067050-DR-GC75

5425-59DR-G76

1057704-01-DR

1162676-03-DR

1067050-DR-GC76

5425-59N-G03

1057704-01-MX

1162676-03-MX

1067050-MX-GC03

5425-59N-G05

1057704-01-MX

1162676-03-MX

1067050-MX-GC05

5425-59N-G57

1057704-01-MX

1162676-03-MX

1067050-MX-GC57

5425-59N-G68

1057704-01-MX

1162676-03-MX

1067050-MX-GC68

5425-59N-G69

1057704-01-MX

1162676-03-MX

1067050-MX-GC69

5425-59N-G70

1057704-01-MX

1162676-03-MX

1067050-MX-GC70

5425-59N-G72

1057704-01-MX

1162676-03-MX

1067050-MX-GC72

5425-59N-G74

1057704-01-MX

1162676-03-MX

1067050-MX-GC74

5425-59N-G75

1057704-01-MX

1162676-03-MX

1067050-MX-GC75

5425-59N-G76

1057704-01-MX

1162676-03-MX

1067050-MX-GC76

5425-59PB-G05

1057704-01-VF

1162676-03-PB

1067050-PB-GCO05

Sterling

1177729-8-A




Service Parts Table (cont.)

Model Number
Numéro du modele
Numero del modelo

Towel Bar Assembly

Ensemble de
porte-serviettes
Montaje del toallero
de barra

Wall Jamb
Montant du mur
Jamba mural

Door Panel
Panneau de porte
Panel de la puerta

5425-595-G03

1057704-01-CP

1162676-03-BDS

1067050-BDS-GC03

5425-595-G05

1057704-01-CP

1162676-03-BDS

1067050-BDS-GC05

5425-59S-G57

1057704-01-CP

1162676-03-BDS

1067050-BDS-GC57

5425-595-G68

1057704-01-CP

1162676-03-BDS

1067050-BDS-GC68

5425-595-G69

1057704-01-CP

1162676-03-BDS

1067050-BDS-GC69

5425-595-G70

1057704-01-CP

1162676-03-BDS

1067050-BDS-GC70

5425-595-G72

1057704-01-CP

1162676-03-BDS

1067050-BDS-GC72

5425-595-G74

1057704-01-CP

1162676-03-BDS

1067050-BDS-GC74

5425-595-G75

1057704-01-CP

1162676-03-BDS

1067050-BDS-GC75

5425-595-G76

1057704-01-CP

1162676-03-BDS

1067050-BDS-GC76

5475-48DR-G03

1057704-02-DR

1162676-07-DR

1067051-DR-GC03

5475-48DR-G05

1057704-02-DR

1162676-07-DR

1067051-DR-GCO05

5475-48DR-G57

1057704-02-DR

1162676-07-DR

1067051-DR-GC57

5475-48DR-G68

1057704-02-DR

1162676-07-DR

1067051-DR-GC68

5475-48DR-G69

1057704-02-DR

1162676-07-DR

1067051-DR-GC69

5475-48DR-G70

1057704-02-DR

1162676-07-DR

1067051-DR-GC70

5475-48DR-G72

1057704-02-DR

1162676-07-DR

1067051-DR-GC72

5475-48DR-G74

1057704-02-DR

1162676-07-DR

1067051-DR-GC74

5475-48DR-G75

1057704-02-DR

1162676-07-DR

1067051-DR-GC75

5475-48DR-G76

1057704-02-DR

1162676-07-DR

1067051-DR-GC76

5475-48N-G03

1057704-02-MX

1162676-07-MX

1067051-MX-GC03

5475-48N-G05

1057704-02-MX

1162676-07-MX

1067051-MX-GC05

5475-48N-G57

1057704-02-MX

1162676-07-MX

1067051-MX-GC57

5475-48N-G68

1057704-02-MX

1162676-07-MX

1067051-MX-GC68

5475-48N-G69

1057704-02-MX

1162676-07-MX

1067051-MX-GC69

5475-48N-G70

1057704-02-MX

1162676-07-MX

1067051-MX-GC70

5475-48N-G72

1057704-02-MX

1162676-07-MX

1067051-MX-GC72

5475-48N-G74

1057704-02-MX

1162676-07-MX

1067051-MX-GC74

5475-48N-G75

1057704-02-MX

1162676-07-MX

1067051-MX-GC75

5475-48N-G76

1057704-02-MX

1162676-07-MX

1067051-MX-GC76

5475-48PB-G05

1057704-02-VE

1162676-07-PB

1067051-PB-GC05

5475-485-G03

1057704-02-CP

1162676-07-BDS

1067051-BDS-GC03

5475-485-G05

1057704-02-CP

1162676-07-BDS

1067051-BDS-GC05

5475-485-G57

1057704-02-CP

1162676-07-BDS

1067051-BDS-GC57

5475-485-G68

1057704-02-CP

1162676-07-BDS

1067051-BDS-GC68

5475-485-G69

1057704-02-CP

1162676-07-BDS

1067051-BDS-GC69

5475-485-G70

1057704-02-CP

1162676-07-BDS

1067051-BDS-GC70

5475-485-G72

1057704-02-CP

1162676-07-BDS

1067051-BDS-GC72

5475-485-G74

1057704-02-CP

1162676-07-BDS

1067051-BDS-GC74

1177729-8-A

Sterling




Service Parts Table (cont.)

Model Number
Numéro du modele
Numero del modelo

Towel Bar Assembly

Ensemble de
porte-serviettes
Montaje del toallero
de barra

Wall Jamb
Montant du mur
Jamba mural

Door Panel
Panneau de porte
Panel de la puerta

5475-485-G75

1057704-02-CP

1162676-07-BDS

1067051-BDS-GC75

5475-485-G76

1057704-02-CP

1162676-07-BDS

1067051-BDS-GC76

5475-59DR-G03

1057704-01-DR

1162676-07-DR

1067052-DR-GC03

5475-59DR-G05

1057704-01-DR

1162676-07-DR

1067052-DR-GCO05

5475-59DR-G57

1057704-01-DR

1162676-07-DR

1067052-DR-GC57

5475-59DR-G68

1057704-01-DR

1162676-07-DR

1067052-DR-GC68

5475-59DR-G69

1057704-01-DR

1162676-07-DR

1067052-DR-GC69

5475-59DR-G70

1057704-01-DR

1162676-07-DR

1067052-DR-GC70

5475-59DR-G72

1057704-01-DR

1162676-07-DR

1067052-DR-GC72

5475-59DR-G74

1057704-01-DR

1162676-07-DR

1067052-DR-GC74

5475-59DR-G75

1057704-01-DR

1162676-07-DR

1067052-DR-GC75

5475-59DR-G76

1057704-01-DR

1162676-07-DR

1067052-DR-GC76

5475-59N-G03

1057704-01-MX

1162676-07-MX

1067052-MX-GC03

5475-59N-G05

1057704-01-MX

1162676-07-MX

1067052-MX-GC05

5475-59N-G57

1057704-01-MX

1162676-07-MX

1067052-MX-GC57

5475-59N-G68

1057704-01-MX

1162676-07-MX

1067052-MX-GC68

5475-59N-G69

1057704-01-MX

1162676-07-MX

1067052-MX-GC69

5475-59N-G70

1057704-01-MX

1162676-07-MX

1067052-MX-GC70

5475-59N-G72

1057704-01-MX

1162676-07-MX

1067052-MX-GC72

5475-59N-G74

1057704-01-MX

1162676-07-MX

1067052-MX-GC74

5475-59N-G75

1057704-01-MX

1162676-07-MX

1067052-MX-GC75

5475-59N-G76

1057704-01-MX

1162676-07-MX

1067052-MX-GC76

5475-59PB-G05

1057704-01-VF

1162676-07-PB

1067052-PB-GCO05

5475-595-G03

1057704-01-CP

1162676-07-BDS

1067052-BDS-GC03

5475-595-G05

1057704-01-CP

1162676-07-BDS

1067052-BDS-GC05

5475-595-G57

1057704-01-CP

1162676-07-BDS

1067052-BDS-GC57

5475-595-G68

1057704-01-CP

1162676-07-BDS

1067052-BDS-GC68

5475-595-G69

1057704-01-CP

1162676-07-BDS

1067052-BDS-GC69

5475-595-G70

1057704-01-CP

1162676-07-BDS

1067052-BDS-GC70

5475-595-G72

1057704-01-CP

1162676-07-BDS

1067052-BDS-GC72

5475-595-G74

1057704-01-CP

1162676-07-BDS

1067052-BDS-GC74

5475-595-G75

1057704-01-CP

1162676-07-BDS

1067052-BDS-GC75

5475-595-G76

1057704-01-CP

1162676-07-BDS

1067052-BDS-GC76

5485-48N-G69

1057704-02-MX

1162676-10-MX

1117299-MX-GC69

Sterling

1177729-8-A




Phone: 1-800-STERLING (1-800-783-7546)
Mexico: 001-877-680-1310

SterlingPlumbing.com

STERLING

A KOHLER. COMPANY

©2011 Sterling

1177729-8-A



